Math 1201

Final Exam Review Factors and Products

Section One: Circle the correct solution.

12,1
1. For the expression X° — —12 to be factorable, give the value for . 3, 4
A 2 ® 3 © 4 D) 6 4z
2. A polynomial is represented by the tiles shown below. What are the factors of the
polynomial? (Consider the shaded tiles positive!l)
X __+Z
W) (x+3)x-2) Tl
B) (x+3)x+2) 2 | |
© (x-3)x-2)
e
-
D) (x—-3)x+2)
3. Two students set up some algebra tiles to help model a product. Which expression
represents the modeled area?(Shaded tiles are
positive)
()  x*+6x Inlx13)
(B) 2x*+3x Iy’ +lx %
€ x*+3x
2x% +6x
A\ -
4 Muttiply: (2x—3)(3x+4). = Lx? +¥x ~Ix 12 T kT-X L
~t
@ Bx?—x—-12 (B) 6x°-12
© 6x2-17x-12 o) 6x*+2x-12
5. A rectangle has dimensions (2x — 3) and (3x + 1). Find the area of the rectangle.
2 x-3)( 3%H)
A) 5x -2 27—z L
(A) 5x 6x 7x — 3 : (,x'z--!—l)(-‘lX‘Ev
(C) 6x%2 +7x—3 (D) 5x2—7x-3 = (axz'_“X".B
6.  Which is the product of (X +3) and (3x —2)? (x+3)(3x-2)
2 _ Tx-b
A 3x2-6 ® 4x*—6 3x ZZA v
2xTHIx=6
() 3x*+7x-6 D) 4x*+7x-6

7. The area of a rectangle is x> — 2x — 24. What are the dimensions?

_-;(x-—L,) ()('[’4)

(x + 4) by (x — 6) (B) (x—4) by(x+6)

(C) (x+4)by(x+6) (D) (x—4)by(x—6)



8. Factor completely: 4x> — 25 (Q X =9 )( L A+D )

(A) (4x - 25)(4x + 25)

(B) (2x — 5)(2x — 5)
€y (2x — 5)(2x + 5)

(D) (2x + 5)(2x + 5)

9. Factor completely:2x* +4x—-6 O | XZ 42X -3 )

(A) (x + 3 — 1) ,
(B) (2x — 2)(x +3) 30 x 43N %)

(C) 2(x% +2x—3)
2(x—1)(x+3)
- gy\s ‘x‘l fgx—

e
10. Expand and simplify: (x + 2)(2x* -x +5) =
2x% + 3x% + 3x + 10 frp - 2x 10
(B) 2x®—x2+5x+10 3 3 w +10
(C) 2x3+5x2+7x+10 SN ¥ 3% ¥3
(D} 2x3+3x2+7x+10

Section Two: Answer all questions. You MUST show your work to get full credit.
l. A (Zx by -X-3)~ (Zox?T}-ISxHX +o

1. Expand and simplify using the gg_lhod of your choice. a2
(A) (2% - 1)(x+3) — Gx ¥ 2)(2x +5) (@52 +5%-3) ~[6x ™ 19x 10)
—— T 3 7 q _ D
S 45x =3 ~lox 1R~
ST T T 2
(B) (x? — 2x+ 5)(2x + 4x — 1) -yt -4 —13
W \
'B'Qﬁ + D -2
2. Factor fully each of the following expressions: - ¥ 7\5 - ¥ xz' +2x

(A) x%— — N l)t"be"‘D_
(x-1)(x+2) §
(B) 8x*+10x—3 = ©x FILx-2x-3
g -1 (2xd 3
(C) 6x* —xy —2y* e (o 3x-24)
(oxz-"H\j +3)<j-2'j" = 2x{3x-2 4 x= Y
=Y 2w+ T 3~
(D) 81x* — 16y*

(952 Hy2) (07 ridy?) = (3x-29)30029) (7534 ")

3. The shaded region represents a picture frame. Find an expression for

the area of the shaded region in simplest form.

QSH‘!QD(—O = AJ_G - A’SM

2x+1

{x+1) M [dxed)

L »uy

() (2% 40)
= 2 xF rr +2x+]

A.LC‘? = L X Lo ﬂsH
= (dx#a) Hxt3)
13y 9y HiLxtI2
T Q%% 1S X+ 2
= (125 25% +72) ‘(ZX; #3000)
_ Jix 29w +1) - 2xP =30

- 9o’ +22% U

17 N

= 2% + 3X+)

ASH%&D



